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QUESTION 1

Based on the following complex survivorship rule: 

SIZEOF(b.FirstName) 

A. The length of the first name with the longest name will be the one selected. 

B. The length of the first name with the shortest name will be the one selected. 

C. The length of the first name of the current record will be less than the length of the first name of the best record. 

D. The length of the first name of the best record will always be greater than the length of of the street name of the
current record. 

Correct Answer: A 

 

QUESTION 2

Which match type would you use to perform a "fuzzy" match for a field containing many un- parsed words (such as a
comments field)? 

A. CNT_DIFF 

B. PRORATED 

C. MULT_EXACT 

D. MULT_UNCERT 

Correct Answer: C 

 

QUESTION 3

Which statement is true regarding Quality Stage data survivorship? 

A. Survivorship is used to create groups of duplicate records. 

B. The Survive stage is used to mark records as possible duplicates. 

C. The Survive stage is used after matched record groups have been identified. 

D. The Survive stage can be used to correct and identify unhandled data from the Standardize stage. 

Correct Answer: C 

 

QUESTION 4

What are two purposes of Standardization processing? 
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A. It removes duplicate data elements. 

B. It identifies best record to move forward in processing. 

C. It certifies and verifies data elements based on USPS postal standards. 

D. It places each value into a single domain field, and transforms data into a standard format. 

E. It applies consistent representations, corrects misspellings, and incorporates business or industry standards. 

Correct Answer: AE 

 

QUESTION 5

When reviewing the results of a Match job you notice that some records are not included in a match group. 

Which option would you review to determine why the records are not matching? 

A. Change the Match cut-off to-100. 

B. Change the Survive rule to include Residual records. 

C. Check the records for missing data values in the block fields. 

D. Change the match from Two-source many-to-many to Two-source one-to-many. 

Correct Answer: A 
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